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PAIR OR STRAIGHT LINES

Practice Excercise Excercise 1 Topical Problems Combined

Equation Of Two Lines And Homogeneous Equation Of

Second Degree

1. The combined equation of lines 2 + y + 3 = 0 and

x—y—+4=20is



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XPqB0QXcSdTy

Ax?+2°+10y—12y+5=0
Bz’ +1y*+2x+3y+5=0
C2® —2y—9y’ +1llz+y+12=0

D. None of the above

Answer: C

o Watch Video Solution

2. Separate egation of lines represented by the

equation 6z® 4+ bzy — 4y? = O'is

Arz—2y=0and z+3y=20

B.2r —y=0and 3z +4y =0


https://dl.doubtnut.com/l/_XPqB0QXcSdTy
https://dl.doubtnut.com/l/_by3k3oWIxxRR

Cx+y=0and z —4y =20

D.22° +¢y* —2y +1lz —y+12=0

Answer: B

o Watch Video Solution

3. Two two straight lines given by
2 2 2 2 5.2

x (ta,n 0 + cos 0) — 2xytanf + y“sin“ 0 = 0 make

with the axis of x angles such that the difference of

their tangents is

A 4

B.3


https://dl.doubtnut.com/l/_by3k3oWIxxRR
https://dl.doubtnut.com/l/_tb16Dlc3bIdQ

C.2

D. None of these

Answer: C

o Watch Video Solution

4. If the slopes of the Ilines given by

az® 4+ 2hzy + by®> = 0 are in the ratio 3: 1, then h? =

\ o
"3

D. None of these


https://dl.doubtnut.com/l/_tb16Dlc3bIdQ
https://dl.doubtnut.com/l/_0GGFaxwTOSZ5

Answer: B

o Watch Video Solution

5. The equation to the pair of lines perpendicular to
the pair of lines 3z> — dzy + y* = 0, is

Ax? +4dzy+ 3y =0

B.z? —4daxy—3y> =0

Czl+4dzy+y?> =0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0GGFaxwTOSZ5
https://dl.doubtnut.com/l/_qqZwc5KfmHgl

6. The angle between the pair of lines represented by

2% — Txy + 3y = 0is

A.60°

B.45°

C.tan L. (z)
6

D.30°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qqZwc5KfmHgl
https://dl.doubtnut.com/l/_4TrDxiF32crS

7. If 0 is the acute angle between the lines given by

z? — 2pry + y® = 0, then

A.cosf =p
B.tanf = p
C.secf =p
D.cotf = p
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_bEnsFLn6euG9

8. If the pairs of straight lines az?® + 2hzy — ay® = 0
and 'bx"2+2gxy-by"2=0 be such that each bisects the

angles between the other, then

A hg+ab=20
B.ah + hb =0
Ch®—ab=0
D.ag + bh =0
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HRH9dGdAF3w6

9. The equation kz? + 4zy + 5y = 0 represents two

lines inclined at an angle 7 if k is

A5/4
B.4/5
C.—45

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gwPrneQB1oAU

10. The product of the perpendiculars drawn from the
point (1,2) to the pair of lines 2 + dxy + y2 =20is
A.9/4
B.3/4
C.9/16

D.13/4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Q9ugFMFWi6ar

11. The equation of two straight lines through the point
(z1,y1) and perpendicular to the lines given by

az’ 4 2hzy + by® = 0, is

a(y — 1)’ +2h(z —21)(y — 1) + bz —21)* =0

a(y — 1) — 2h(z — 21)(y — ) + b(z — z1)* = 0

by — 1)’ +2h(z —21)(y — 1) +alz —21)* =0

D. None of these

Answer: C

f 1


https://dl.doubtnut.com/l/_CEh1j2VuHdUp

o Watch Video Solution

12. Find the combined equation of the pair of lines
through the point (1, 0) and parallel to the lines
represented by 22% — zy — > = 0

A2’ —zy—y —z+y—1=0

B.2y  +ay—az’ +2z —y—1=0

C2l +ay—al—z—y+2=0

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CEh1j2VuHdUp
https://dl.doubtnut.com/l/_IYSbeJgkTbb6

13. If the pairs of lines az® + 2hzy + by’ = 0 and
a'xz” + 2h’zy 4+ b'y® = 0 have one line in common,
then (ab’ — a’b)? is equal to

A.(h'b—hb')(ha’ — h’a)

B.4(h'b — hb')(ha’ — h’a)

C.2(h'b— hbd’)(ha’ — h’'a)

D.4(h’b+ hb')(ha' + h'a)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_G9c79JaccCqB

14. If the pair of lines represented by
az’ 4+ 2hzy + by®> = 0, ab # 0, are such that the sum
of the slopes of the lines is three times the product of

their slopes , then

A3b+2h =0
B.3a +2h =0
C.2a +3h =0

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cZRqraiuLCBQ
https://dl.doubtnut.com/l/_WW8VaItXx3FK

15. If the sum of slopes of the lines given by
4x% + 2kzy — Ty> = 0 is equal to the product of

slopes , then ks equal to

D. 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WW8VaItXx3FK

16. The combined equation of the images of pair of
lines given by az® 4+ 2hazy + by? = 0 in the line mirror
y=0,is

A az? — 2hazy + by’ =0

B.bz® — 2hay + ay® =0

C.bz* 4+ 2hzy + ay® = 0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YW8waYfaqj5R

17. Find the angle between the lines represented by

z? + 2zysecd +y*> =0

A. 46
B. 26
C.0

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_WniYb3kokCHI

18. The equation 3z* + 2hzy + 3y> = 0
represents a pair of straight lines passing through the
origin. The two lines are

A.real and distinct, if b2 > 3

B. real and distinct, if R > 9

C.real and coincident, if k> = 3

D. real and coincident , if b2 > 3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PRtJzH64ymBb

19. The set of value of h for which the equation
4% + haxy — 3y> = 0 represents a pair of real and
distinct lines is

A.R

B.(3,4)

C.(—3,4)

D. (4, o0)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AUbU930YvjsV

20. One bisector of the angle between the lines given
by a(x —1)> +2h(z — Dy + by’ =0 is
2z + y — 2 = 0. The equation of the other bisector is

Az —2y+1=0

B.x —2y—2=20

Cz—-—2y—1=20

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r7eR8NJO1w2W

21. The combined equation of the lines Lijand Ly is
22% + 6zy + y> = 0, and that of the lines Ls and Ly is
4z* + 18zy + y* = 0. If the angle between L, and L,

be a, then the angle between L; and L3 will be.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yVjo3KlBB6Lq
https://dl.doubtnut.com/l/_jBBKGiY7ExBG

22. The equation of two straight lines through the
point (x1, y1) and perpendicular to the lines given by

ax’® + 2hzy + by® = 0,is

bz —x1)° —2h(z —z)(y—w1) +aly—3)> =0

bz —x1)> +2h(z —21)(y— ) +aly—v1)* =0

a(z —z1)° —2h(z —z1)(y—y1) + by — 1) =0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jBBKGiY7ExBG

23. The triangle formed by the lines whose combined
equation is (y2 — 4y — :1:2) (x+y—1) =0is

A. equilateral

B. right angled

C. isosceles

D. obtuse angled

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jBBKGiY7ExBG
https://dl.doubtnut.com/l/_Oi9WpbLOaIB6

24. The combined equation of the pair of lines through
the origin and perpendicular to the pair of lines given
by az® + 2hxy + by = 0, is

A az? — 2hazy + by’ =0

B.bz? + 2hay + ay® =0

C.bz* — 2hzy + ay® = 0

D. bz? 4+ 2hzy — ay? = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wHEm3jvrDzbz

25. If the slope of one of the lines represented by

az® 4+ 2hzy + by’ = 0 is the square of the other ,

th a—l—b_|_8h2_
" ab

A3

B.4

C.5

D.6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JGgHLO8A53Jg

26. Let 'a' and 'b' be non-zero real numbers. Then, the
equation (aa@ +—by2—%cﬂ(m2-—-5wy-+-6y2)
represents :
A. four straight lines , when ¢ = 0 and a,b are of the
same sign
B. two straight lines and a circle ,when a = b and c
is of sign opposite to that of a
C. two straight lines and a hyperbola , when a and b
are of the same sign and c is of sign opposite to

that of a


https://dl.doubtnut.com/l/_3vHQgH7dajnQ

D. a circle and an ellipse , when a and b are of the

same sign and c is of sign opposite to that of a.

Answer: B

o Watch Video Solution

27. The slopes of lines represented by
2 —|—2hwy+2y2 = 0 are in the ratio 1:2, then h

equals .


https://dl.doubtnut.com/l/_3vHQgH7dajnQ
https://dl.doubtnut.com/l/_K4ApjzbEUADm

D. +3

Answer: B

o Watch Video Solution

28. If one of the lines given by 6x2 — xy + 4cy’ = 0'is

3z + 4y = 0,then c =

Al


https://dl.doubtnut.com/l/_K4ApjzbEUADm
https://dl.doubtnut.com/l/_kwN7SIzhg24o

Answer: D

o Watch Video Solution

29. The equation of pair of lines joining origin to the

points of intersection of 22 + 3> = 9and z +y = 3

Azl +(3—z) =9
B.xzy =0
C3+y)’+y:=9

D.z —y> =9

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kwN7SIzhg24o
https://dl.doubtnut.com/l/_wg2B0oGOnotR

30. The centroid of the triangle formed by the pair of

straight lines 12z% — 20zy + 7y®> = 0 and the line

2z — 3y + 4 = Ois
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Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wg2B0oGOnotR
https://dl.doubtnut.com/l/_Urxd4f6y4PVU
https://dl.doubtnut.com/l/_yDya3axlNbgi

X2y 2zy . .
31. if + 7 + = 0 represent pair of straight
a

lies and slope one line is twice the other line then

ab: h2.

A9:8

B.&8:9

C.1:2

D.2:

Answer: A

o Watch Video Solution

32. The equation 4z% — 24zy + 11y* = 0 represents


https://dl.doubtnut.com/l/_yDya3axlNbgi
https://dl.doubtnut.com/l/_CrGpWHOeL43I

A. two parallel lines

B. two perpendicular lines

C. two lines through the origin

D. a circle

Answer: C

o Watch Video Solution

33. The distance between the pair of parallel lines given

by 2* — 1005z + 2006 = 0 is

A. 1001

B. 1000


https://dl.doubtnut.com/l/_CrGpWHOeL43I
https://dl.doubtnut.com/l/_9sBICitSmxXW

C. 1005

D. 2006

Answer: A

o Watch Video Solution

34. The area (in sq unit) of the triangle formed by
x+y+1=0 and the pair of straight lines

x2—3xy+2y2:0is


https://dl.doubtnut.com/l/_9sBICitSmxXW
https://dl.doubtnut.com/l/_HGaooB9X8IpS

Answer: C

o Watch Video Solution

35. If the lines pz? — gry — y* = 0 makes the angles o

and 8 with X-axis , then the value of tan(a + f) is



https://dl.doubtnut.com/l/_HGaooB9X8IpS
https://dl.doubtnut.com/l/_fb3i7G7DPE8u

Answer: A

o Watch Video Solution

36. The lines represents by az? + 2hzy + by?> = 0 are
perpendicular to each other , if

AR =a+b

B.a+b=0

C.h* = ab

D.h =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fb3i7G7DPE8u
https://dl.doubtnut.com/l/_fFfKSsmk3AAr

37.1f the pair of lines az? + 2hzy + by* = O(h2 > ab)
forms an equilateral triangle with the line
lx + my + n = 0then (a + 3b)(3a + b) =

A H?

B. — H?

C.2H?

D. 4H?

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fFfKSsmk3AAr
https://dl.doubtnut.com/l/_AobqpjjuQyy5

Practice Excercise Excercise 1 Topical Problems General

Equation Of Second Degree

1. If in the general quadratic equation
f(z,y) =0, A =0 and h* = ab, then the equation
represents.

A. two parallel straight lines

B. two perpendicular straight lines

C. two coincident lines

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bsiIN1FTe7mr

2. If the equation 3z° +zy—y> — 3z +6y+ k=0
represents a pair of straight lines, then the value of k,
is

A.O

B.9

C.1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bsiIN1FTe7mr
https://dl.doubtnut.com/l/_PLPG0jsK6IrQ

3. If Az? — 10zy + 12y* + 5z — 16y — 3 = 0,
represents a pair of straight lines, then the value of A

is

Al

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9CwsPKfIGXhS

4.1f az® — y* + 4z — y = 0 represents a pair of lines ,

then a is equal to

A. —16
B.16

C.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_PjZY7K2lO81w

5. The value of A for which the equation

z? — y> —x — Ay — 2 = 0 represent a pair of straight

line, are
A.5/2
B.1+5
C.£3

D.2/5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RjhzFf34dHN0

6. The value of for which the equation

p
e +pry+y> — bz —Ty+6=0 represents a pair of
straight lines , is

A.5/2

B.5

C.2

D.2/5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ah3mI1nWETcn

7. If the equation kz? —2zy—vy® -2z +2y=0

represents a pair of lines , then k is equal to

A2

D.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FbfPEohid8Dx

8. The equationof the pair of straight lines
perpendicular to the pair 2z* + 3zy + 2y> = 0 and
passing through the origin , is

A.2z% + 5zy + 2y° = 0

B.2z% — 3zy + 2y° = 0

C.2z2 +3zy+4y°=0

D.2z? — 5zy + 2y? =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LTQoLFlGOOca

9. The |lines represented by the equation

wz—y2—w+3y—2:Oare
Az+y—1=0z—-y+2=0
Br—y—2=0,z+y+1=0
CzxH+y+2=0z—y—1=0

Dz —y+1=0z+y—2=0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gDD3dK6BI7KR

10. If the lines
z? + 2zy — 35y% — 4x + 44y — 12 = Oandbz + Ay — 8

are concurrent, then the valueof Aisa.0b.1c.-1d.?2

A.O

B.1

D. 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OL5i8b1QmROQ

11. In order to eliminate the first degree terms from the
equation 2z% + 4dxy + 5y® — 4z — 22y + 7 =0, the
point to which origin is to be shifted is- (1) (1, — 3) (2)
(2,3)(3)(—2,3)(4)(1,3)

A (1, —3)

B. (2, 3)

C.(—2,3)

D. (1, 3)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_plSSe03oQuJ6
https://dl.doubtnut.com/l/_f6Ermn6UuWjk

12. The equation
z? 4+ 2¢/abzy + by + 29z + 2fy +c =0

represents a pair of parallel straight lines, if

A.ag® = bf?
B.a’g = b*f
C.bg* = af?
D.b%g = a®f
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_f6Ermn6UuWjk

13. If the lines joining the origin to the points of
intersection of the line y = mxz + 2 and the curve

z? + y* = 1 are at right-angles, then

Am? =1
B.m2 =3
cCm?="T
D.2m2 =1
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_opXqj09aNKCh

14. If az’ + 2hzy + by® + 292 + 2fy+c =0

represents parallel straight lines, then

A hf = bg
B.h* = bc
C.a’f = b%g

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qIxvm3qBSGYw

15. The equation
8z2 + 8xry + 2y2 + 26z + 13y + 15 = 0 represents a

pair of straight lines. The distance between them is

A. —units
NG

B. ——units

2v/5

C Zunits
"V 5

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_v8N7vSHRixBW

16. If the equation
az’ + 2hay + by® + 29z + 2fy +c =0
represents two straights lines, then the product of the

perpendicular from the origin on these straight lines, is

A. ¢

V(@ —0)? - a2
B. C

V(@ -0+ 42
C. <

V(@ +0)? - 42

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Nqp0124K6gXT

17. Prove that the straight lines joining the origin to
the point of intersection of the straight line
hx + ky = 2hk and the curve
(x — k)’ + (y — h)* = & are perpendicular to each

other if 2 + k? = .

A h?+ k2 =¢
B.h% + k% = 2¢°
C.h: -k =¢

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_G76JXEVFVvBf

18. The equation az®+ by’ + cx +cy = 0c! =0

represents a pair of straight lines if

Aa+b=0
B.a+c=0
Cb+c=0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HChTL6unHxoB

19. If the equation
1222 + Txy — py2 — 18z +qy+ 6 = 0 represents a
pair of perpendicular straight lines, then

Ap=12,qg= —1

B.p= —12,9q=1

Cp=12,q=1

D.p=1,q =12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bbhg18X2lSVu

20. The pairs of straight lines > — 3zy + 2y* = 0 and
z? —3zy+2y° +x — 1forma

A. square but not rhombus

B.rhombus

C. parallelogram

D. rectangle but not a square

Answer: C

o Watch Video Solution

Excercise 2 Miscellaneous Problems


https://dl.doubtnut.com/l/_EzAPC4TconMe
https://dl.doubtnut.com/l/_sd7AzLtEJwWt

1. The equation of pair of straight lines joining the
point of intersection of the curve
z? + y?> =4 and y — & = 2to the origin, is

AP +y’ = (y—z)

Bz’ +¢y> +(y—xz) =0

Cx?+y?=4y—=x)’

D.z2 + 9% + 4(y — z)* = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sd7AzLtEJwWt

2. The condition of representing the coincident lines by
the general quadratic equation f(z,y) = 0,is

A.A =0,h® =ab

BA=0anda+b=0

C.A =0,h?=ab, g°> = ac, f? = bc

D.h? = ab, g = ac and f? = be

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Cjg7UzJt2XBV

3.1f the lines (p — ¢)z? + 2(p+ @Q)zy + (¢ — p)y*> = 0

are mutually perpendicular , then

Ap=gq
B.p =20
Cg=20

D. p and g may have any value

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IzyMRZA7rghF

4. If the equation 2z% — 2hay + 2y® = 0 represents
two coincident straight lines passing through the

origin , then h is equal to

A L6
B./6
C.—/6

D. +2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Ss0SWulXez4E

5. The angle between the straight lines joining the
origin to the point of intersection of

322 +5zy —3y* + 22 + 3y =0and 3z — 2y = 1,is

o
N Y e N R

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_k1fL6gGBiEJ3

6. The two lines represented by
3ax? + bxt + (a2 — 2)y2 = 0 are perpendicular to
each other for

A. two value of a

B.a

C.for one value of a

D. for no value of a

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KBGYPuIcSBCi

7. The equation )\(a:3 — 3a:y2) +y° — 32y =0
represent three straight lines passing through the
origin such that

A. they are equally inclined to one another

B. two of which are at right angles

C. two of which are coincident

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Qqd92cQBJXSJ

8. The equation 3 + azzy — xy2 — y3 = 0 represents
three straight lines passing through the origin such
that
A. two of them are coincident and two of them are
perpendicular
B.two of them are coincident but no two are
perpendicular
C.two of them are perpendicular but no two are
coincident

D. None of the above

Answer: A



https://dl.doubtnut.com/l/_viT2ZfObjcsA

o Watch Video Solution

0. The straight lines represented by

5 5 1 2
' +mey—2y"+3y—1=0 meet at | — —, =

3’3
1 2 1 2
(b) (— 30 §) (5’ §) (d) none of these
A.(1/3, —2/3)
B.(—1/3, —2/3)
C.(1/3,2/3)

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_viT2ZfObjcsA
https://dl.doubtnut.com/l/_4oyFS3wrQD4g

10. All chords of the curve 3z? —y?> — 2z + 4y =0
which subtend a right angle at the origin, pass through

the fixed point

A (1,2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aYfM1cNKedI3

11. Distance between the lines represented by the
equation 2 + 2,/3zy + 3y — 3z — 33y —4 = 0is
(A) °

2
(B) >

4
(C) 5
(D)0

A. perpendicular to each other

B. parallel

C.inclined at 45° to each other

D. None of the above

Answer: B

[ o Watch Video Solution


https://dl.doubtnut.com/l/_gq0qlKlToICS

12. The lines represented by z2 + 2\zy + 2y? = 0 and
the lines represented by 1 + A2 —8xy+ 1y =0 are
equally inclined, then

A. A is any real number

B.A > 2

CA= £2

DA< —2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gq0qlKlToICS
https://dl.doubtnut.com/l/_dmMPQWBvoTZH
https://dl.doubtnut.com/l/_ruSnwMKedSmw

13. The pair of lines passing through the origin and
parallel to the lines represented by the equation
2z% — xy — 6y + Tx + 21y — 15 = 0, is

A 2z% — zy — 6y° = 0

B.6x2 — Ty — 6y2 =0

C.6z° —zy—2y° =0

D.2a:2+wy—6y2 =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ruSnwMKedSmw

14. If the bisectors of angles represented by
az’ 4+ 2hzy +by> =0and a’z? + 2h'zy + b’y = 0
is same , then

A(a—bh" =(a’"—b)h

B.(a —b)h =(a’ —b")h’

C.(a+bh’ = (a’d’)h

D.a —b)h' = (a’ +b')h

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Cvt5h9k0hnxM

15. The angle between the pair of straight lines
y*sin® @ — zysin? 0 + > (0052 0 — 1) =0is

Am/3

B. 7 /4

C.mw/6

D.7 /2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RFzCeX7nJGa2

16. Find the distance between the pair of parallel lines

e +dey+ 4y’ +3c+6y—4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_4UAjJm4eH59n

17. The distance btween the parallel lines

922 — 6zy + vy + 18z — 6y + 8 = 0, is

oy

N

| ;\gal\hﬁp
(@) (@] (@)

o
<
p—
()

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4JfNKCi7fVC6

18. The point of intersection of the pair of straight lines

given by 622 + 5xy — 4y® + Tz + 13y — 2 = 0, is

D.(—1, — 1)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6SLuGdMA0YY3

19. If first degree terms and constant term are to be
removed from the equation
1222 + Tzt — 12y2 — 172 — 31y —7=0 , then the

origin must be shifted at shifted at the point.

A1, —1)
B.(—1,1)
c.(—-1, —1)

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZXJcpeYfebPD
https://dl.doubtnut.com/l/_N6OZ9kuNJ0xl

20. The straight lines represented by
(y — mz)® = a*(1+ m?) and
(y — n:c)2 = a2(1 + nz) from a rectangle (b) rhombus
trapezium (d) none of these

A.rectangle

B. trapezium

C.rhombus

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N6OZ9kuNJ0xl

21. A pair of perpendicular straight lines is drawn
through the origin forming with the line 2z + 3y = 6
an isosceles triangle right-angled at the origin. The
equation to the line pair is 5z® — 24zy — 5y? = 0
5% — 262y — 5y? = 0 5z% 4+ 24zy — 5y? = 0
5z% + 26zy — 5y? = 0

A 5z? — 24zy — 5y? = 0

B.5z% — 26zy — 5y® = 0

C.5z% + 24zy — 5y° = 0

D.5z2 + 26zy — 5y = 0

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_v0XYQidRGPLa

22. If the origin is shifted to the point (a_b, 0)

a—>b
without rotation, then the equation
(a—1b (zc2 + y2) — 2abx = 0 becomes
(a—b (332—|—y2) (a + b)zy + abz = a?
(a+b)(z* + y°) = 2ab (2> + %) = (a® + %)

(a . b)2(a72 + y2) _ a2b2
A(a—0b)(X*+Y?) — (a+b)XY + abX = a’
B.(a +b)(X*+Y?) = 2ab
C.(X*+Y?) = (a®+ )

D.(a — b)*(X? +Y?) = a??

Answer: D


https://dl.doubtnut.com/l/_v0XYQidRGPLa
https://dl.doubtnut.com/l/_chATqv1yjgkn

o Watch Video Solution

23. If one of the lines of
my® + (1 — m2)wy — mz? =0 is a bisector of the
angle between the lines xy = 0, then m is 1 (b) 2 (¢)

L (d) —1

2

A3

B.2

C.—1/2

Answer: D

[ o WMilabk .\ daa Ol an



https://dl.doubtnut.com/l/_chATqv1yjgkn
https://dl.doubtnut.com/l/_feMJDX72PTOW
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24. The slopes of |lines represented by
z? + 2hxy + 2y® = 0 are in the ratio 1:2, then h

equals .

C.x=1

D.+3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_feMJDX72PTOW
https://dl.doubtnut.com/l/_AA4LkjZVcUIr
https://dl.doubtnut.com/l/_YuA4qr6bWn8W

25.The angle between the pair of lines whose equation

is 422 + 10zy + my® + 5z + 10y = 0, is

A.tan"1(3/8)
B.tan '(3/4)

C.tan '(2y/25 —4m/m +4),m € R

Answer: B

o Watch Video Solution

26. The equation z —y = 4 and z? + 4zy + y* =

represent the sides of


https://dl.doubtnut.com/l/_YuA4qr6bWn8W
https://dl.doubtnut.com/l/_DPBCNaQWPznp

A. an equilateral triangle

B. a right angled triangle

C. an isosceles triangle

D. None of these

Answer: A

o Watch Video Solution

27. The distance between the two lines represented by
the sides of an equilateral triangle a right-angled

triangle an isosceles triangle none of these

A. 8/5 units


https://dl.doubtnut.com/l/_DPBCNaQWPznp
https://dl.doubtnut.com/l/_UTrX2g46ehl5

B. 6/5 units

C. 11/5 units

D. None of these

Answer: A

o Watch Video Solution

28. If the pairs of lines
z? + 2zy + ay® = 0 and az® + 2zy + y> =0 have
exactly one line in common then the joint equation of

the other two lines is given by

A 3z? +8zy —3y? =0


https://dl.doubtnut.com/l/_UTrX2g46ehl5
https://dl.doubtnut.com/l/_KfbjxhGIDktI

B.3z> 4+ 10zy + 3y? = 0
C.y2 + 2zxy — 322 =0

D.z? +2zy — 3y =0

Answer: B

o Watch Video Solution

29. If one of the lines of

2

my? + (1 — mz)wy —ma” = 0 is a bisector of the

angle between the lines zy = 0, then m is 1 (b) 2 (¢)

. d) —1
_5( ) —


https://dl.doubtnut.com/l/_KfbjxhGIDktI
https://dl.doubtnut.com/l/_ErQGltj0B6JH

C.x=1

D. 2

Answer: C

o Watch Video Solution

30. The angle between the pair of straight lines formed
by joining the points of intersection of z* + y* = 4
and y = 3z + cto the origin is a right angle. Then ¢ is

equal to

A. 20


https://dl.doubtnut.com/l/_ErQGltj0B6JH
https://dl.doubtnut.com/l/_Q7suItMGrRMX

B.13
C.1/5

D.5

Answer: A

o Watch Video Solution

31. The angle between lines joining origin and
intersection points of line 2z +y =1 and curve
3:(:2—|—4yx—4x—}—1:0,is

A /2

B.m/3


https://dl.doubtnut.com/l/_Q7suItMGrRMX
https://dl.doubtnut.com/l/_Hmc6EFhOCFuz

C.m/4

D.7w/6

Answer: A

o Watch Video Solution

32. If the equation
Ae? 4+ 2y — bzy+ 5z —Ty+3=0 represents two
straight lines , then the value of A\ will be

A3

B.2

C.8


https://dl.doubtnut.com/l/_Hmc6EFhOCFuz
https://dl.doubtnut.com/l/_S4nZi7Wd1Nrt

Answer: B

o Watch Video Solution

33. If the equation of the pair of straight lines passing
through the point (1, 1) , one making an angle 6 with
the positive direction of the x-axis and the other
making the same angle with the positive direction of
the y-axis, is
22 —(a+2zy+vy’ +alz+y—1) =0,a #2,

then the value of sin260 is a — 2 (b) a + 2 2(a + 2) (d)
2

a


https://dl.doubtnut.com/l/_S4nZi7Wd1Nrt
https://dl.doubtnut.com/l/_HE8Jmnb3GVRF

Aa—2

B.a + 2

c.2/(a+2)

D.2/a

Answer: C

o Watch Video Solution

34. The equations a’z® 4 2h(a + b)zy + b*y* =0

and az? + 2hzy + by? = 0 represent.

A. two pairs of perpendicualr straight lines

B. two pairs of parallel straight lines


https://dl.doubtnut.com/l/_HE8Jmnb3GVRF
https://dl.doubtnut.com/l/_UFXIWRrJu7TP

C.two pairs of straight lines which are eqaully

inclined to each other

D. None of these

Answer: C

o Watch Video Solution

35. The lines a’z® 4 bey® = a(b+c)zy will be
coincident , if

Aa=0or b=c

B.a=bora=c

Cc=0ora=%d0


https://dl.doubtnut.com/l/_UFXIWRrJu7TP
https://dl.doubtnut.com/l/_vwn9yQtb8q88

D.a =b-+c

Answer: A

o Watch Video Solution

36. If the slope of one of the lines represented by the
equation az? + 2hzy + by? = 0, is X that of the other
, then

A4 h = ab(1 + ))

B.Ah = ab(1 + \)?

C.4\h% = ab(1 + \)?

D. None of these


https://dl.doubtnut.com/l/_vwn9yQtb8q88
https://dl.doubtnut.com/l/_A7F593W1wjTX

Answer: C

o Watch Video Solution

37.The equation v — 2?42 —1=0, represents

A. a pair of striaght lines
B. a parallel straight lines
C. a perpendicular straight lines

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_A7F593W1wjTX
https://dl.doubtnut.com/l/_xwpYwbC73uL4

38. The pair of straight lines passing through that
point (1, 2) and perpendicular to the pair of straight
lines 3z% — 8xy + 5y* = 0, is
A(bz+3y+1)(z+y+3)=0
B.(5z + 3y — 11)(z +y—3) =0
C.(3z+5y—11)(z+y+3) =0

D. (3zsy + 11)(z +y—3) =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4x0wIIL24Ocz

39. If two sides of a triangle are represented by
z? _ Tzy + 6y® = 0 and the centroid is (1, 0) then the
equation of third side is

A2c +Ty+3=0

B.2r —Ty+3 =0

C2x +Ty—3=0

D.2z —Ty—3=0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1CMO5MXC9J0N

40. If the angle between the lines represented by the
equation y? + kzy — z?tan? A = 0is24, then K is
equal to

A.O

B.1

C.2

D.tan A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_87ruk0aD5E5F

41. If the lines represented by the equation
2x% — 3ry + y2 = 0 make angles a and 3 with X-axis,

then cot? o 4 cot? B is equal to

N ® >
o

o
ot s | w

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YhDSjnWpPZcF

42. The line x — 2y = 0 will be a bisector of the angle
between the lines represented by the equation

z? — 2hay — 2y = 0, if his equal to

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_66g2yL2rJpFf

43.1f 7(1 — m?®) + m(p — g) = 0, then a bisector of
the angle between the lines represented by the

equation px? — 2rzy + qy2 = 0, is.

Cy=mx

D.ym =«

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2l4sNfupsDzD

44.The equation of the perpendiculars drawn from the

origin to the lines represented by the equation
2% — 10zy + 12y* + 52 — 16y — 3 = 0, is

A.6z% 4+ bxy +y° = 0

B.6y> + bxy+ 2 =0

C.622 —bzy+y> =0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WnR2ny6KMIYs

45. The equation 2z + 4oy —py’ + 4 +qu+1=0
will represent two mutually perpendicular straight
lines , if

Ap=1land g=1or 6

B.p=2and g=0 or 6

Cp=2and g=0or 8

Dp= —2and 1= —2 or 8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AsbVwU5q2NfT

46. The acute angle formed between the lines joining
the origin to the points of intersection of the curves

4+ 9y -2z —1=0andz +y=1,is

1
Atan 1| — =
an ( 2)

B.tan"!(2)

1
_]_ -
C.tan <2>

D.60°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ycx0bHxJVQws

47.Two lines are given by (z — 2y)* + k(z — 2y) = 0.
The value of k, so that the distance between them is 3,

is :

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_I3LpShksyZlC

48. The locus of the point P(z,y) satisfying the

relation

V@3 +@-1"+ /@ +3+ -1 =6
is

A. point

B. pair of coincident straight lines

C.circle

D. ellipse

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0hkc471irFnD
https://dl.doubtnut.com/l/_xX9451X8CFtP

49. The lines joining the origin to the points of
intersection of the line 3x-2y -1 and the curve
3z% + 5zy — 3y® + 2z + 3y = 0, are

A. parallel to each other

B. perpendicular to each other

C.inclined at 45° to each other

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xX9451X8CFtP

50. The pair of straight lines joining the origin to the
points of intersection of the line y = 24/2x 4+ ¢ and

the circle z? + y* = 21are at right angles , if

Act—4=0
B.c? —8=0
C.d—9=0
D.c2—10=0
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_slD4Ca77wvrO

51. The value of h for which the equation
3z% 4+ 2hay — 3y® — 40z + 30y — 75 = 0 represents
a pair of straight lines , are

A 44

B.4,6

C. 4,4

D.04

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8mW8ByN71QN8

52. Which of the following second , degree eqation
represented a pair of straight lines ?

A, z* —:cy—y2 =1

B.—xl+azy—y? =1

C.dzx? —doy+y? =4

D.z’ +y* =4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sNfBbjqh8BQm

53.The equation of one of the lines represented by the
equation pq(a:2 — y2) + (p2 — q2)wy = 0,is
Apr+qy=20
B.px —qy =0
C.p’z + ¢y =0

D.¢’z — p’y = 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_P43lpLza027t

54. If the slope of one line in the pair
az’® + 4zy + y*> = 0is three times the other, then a =
A1l
B.2
C.3

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qxG1cKQYuGSZ

55. If the acute angle between the pairs of lines
322 — Ty + 4y®> = 0 and 622 — 5zy + y*> = 0 be 6,

and 0, respectively, then

(A) 01 = 0,
(B) 6; = 20,
(C) 20, = 0,

(D) None of these

A6, = 0,
B.O; = 20,
C.20, = 6,

D. None of these

Answer: A


https://dl.doubtnut.com/l/_Oc6kvKp2HVY0

o Watch Video Solution

56. The number of values of A for which the bisectors
of the angle between the lines
az? + 2hzy + by + )\(:c2 + yz) = 0 are the same as

those of az? + 2hzy + by = 0is

B.b
C.h

D. any real number

Answer: D

[ o WMilabk .\ daa Ol aa



https://dl.doubtnut.com/l/_Oc6kvKp2HVY0
https://dl.doubtnut.com/l/_2azYoPZDptJA
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57.The orthocentre of the triangle formed by the lines

zy=0and x +y=1,is

A. (0, 0)

5 1 1
\27 2
5 1 1
\4’ 4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2azYoPZDptJA
https://dl.doubtnut.com/l/_YtWnhY7eWaU4

58. The equation of one of the lines represented by the
equation 2% — 2zycot 0 — y* = 0, is

Ax—ycotfd =0

B.z +ytanf =0

C.ysinf + z(cosf +1) =0

D.xcosf 4 y(sinf + 1) =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XBFPPhlx4YNf

59. Difference of slopes of the lines represented by the
equation

2 (sec2 6 — sin® 0) — 2zytanf + y°sin® 0 = 0 s

(A) 4

(B) 3

(C) 2

(D) None of these

A4
B.3
C.2

D. None of these

Answer: C


https://dl.doubtnut.com/l/_GGnEZkiLSv4K

o Watch Video Solution

60. The lines (lz +my)’ —3(ma —Ily)* =0 and
lr + my+ n = 0forms

A. an isosceles triangle

B. a right angled triangle

C. an equilateral triangle

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GGnEZkiLSv4K
https://dl.doubtnut.com/l/_xV0koRNcmATc
https://dl.doubtnut.com/l/_W7TKTjfTO4rV

61. If 6z> + 1lzy — 10> + = + 3ly + k= 0

represents a pair of straight lines , then kis equal to.

A —15
B.6

C.—10

Answer: A

° Watch Video Solution

62. The equation zy + a® = a(z + y) represents


https://dl.doubtnut.com/l/_W7TKTjfTO4rV
https://dl.doubtnut.com/l/_hkedjaWyLmGJ

A. a two perpendicualr lines

B. a pair of straight lines

C. two parallel straight lines

D. None of the above

Answer: A

o Watch Video Solution

63. If the equation az®+by’+cx+cy=0

represents a pair of straight lines , then

Aalb+c)=0

B.b(c+a)=0


https://dl.doubtnut.com/l/_hkedjaWyLmGJ
https://dl.doubtnut.com/l/_UGEW0oXjqHjg

C.cla+b) =0

D.a+b+c=0

Answer: C

o Watch Video Solution

64. If the angle between the two lines represented by
2% + bxy+ 3y  + 6z +Ty+4=0 is tan '(m),

then mis equal to


https://dl.doubtnut.com/l/_UGEW0oXjqHjg
https://dl.doubtnut.com/l/_pmuNfbrYKtxC

D.7

Answer: A

o Watch Video Solution

65. The point of intersection of the lines represented
by the equation 2z? + 3y® + Tzy + 8z + 14y + 8 = 0

is


https://dl.doubtnut.com/l/_pmuNfbrYKtxC
https://dl.doubtnut.com/l/_5pWuqdV0y9Em

Answer: C

o Watch Video Solution

66. The equation of second degree
z? + 202z + 2y + 4z + 4/2y + 1 = 0 represents a

pair of straight lines.The distance between them is a. 4

b2 c2d.2\3

V3

A 4

C.2

D.2/3


https://dl.doubtnut.com/l/_5pWuqdV0y9Em
https://dl.doubtnut.com/l/_r1glTBLBUbFK

Answer: C

o Watch Video Solution

67. The lines joining the point of intersection of the line
x+y=1 and the curve z° +y®> —2y+ A =0 to the
origin are perpendicular, then value of A wil be: (A). 1/2

1
B).-1/2 (C). — (D). 0
(B) ()\/5()


https://dl.doubtnut.com/l/_r1glTBLBUbFK
https://dl.doubtnut.com/l/_HPX5ucR0lPhk

Answer: D

o Watch Video Solution

68. The equation of the line joining origin to the points
of intersection of the curve z2+ y?>=a? and

22 +y? —azx —ay=0,is

A. z? —y2 =0
B.zy =0

Cey—xz>=0
D.y’ +zy =0

Answer: B



https://dl.doubtnut.com/l/_HPX5ucR0lPhk
https://dl.doubtnut.com/l/_KqPbMGot8B5A

o Watch Video Solution

69. If the slope of one of the lines represented by
az® + 2hzy + by? = 0 is the sqaure of the other ,
then

A.a*b + ab® — 6abh + 8h* = 0

B. a’b + ab® + 6abh + 8h* = 0

C.a’b + ab® — 3abh + 8h* =0

D.a’b + ab® — 6abh — 8h> = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KqPbMGot8B5A
https://dl.doubtnut.com/l/_SiReKZFulFbj

70. If 4ab = 3h2, then the ratio of the slopes of the

lines represented by
az’ 4+ 2hzy + by® = 0 will be

(A) v/2:1
(B) v/3:1
() 2:1

(D)1:3
A 2:1
B./3:1
C.2:1

D.1:3

Answer: D

the

equation


https://dl.doubtnut.com/l/_vVqYa2Y0psLt

o Watch Video Solution

71. The pair equation of the lines passing through the
origin and having slopes 3 and — 3 is

A3y + 8zy — 322 =0

B.3z> 4+ 8zy — 3y*> =0

C.3y% —8zxy+ 322 =0

D.3z? + 8zy + 3y =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vVqYa2Y0psLt
https://dl.doubtnut.com/l/_4uyfsYDB7dI0
https://dl.doubtnut.com/l/_Dugxloct5qAe

72. If the sum of the slopes of the lines given by
z? — 2cxy — Ty* = 0 is four times their product, then

the value of cis

C.2

D. 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Dugxloct5qAe

73. If the angle between the pair of straight lines
represented by the equation
? —3zy+ A+ 3z —5y+2=0 is tan '(1/3),
where X is non - negative real number , then X is equal
to

A 2

B.O

C.3

D.1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uwbekOJPyQn4

74. If one of the lines denoted by the line pair
az’ 4+ 2hzy + by® = 0 bisects the angle between the
coordinate axes, then prove that (a + b)* = 4h?

A (a — b)* = h?

B. (a + b)* = A’

C.(a —b)* = 4h?

D. (a + b)? = 4h?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_scJVWJ7SVj4E

75. The equation of second degree
z? + 242z + 2y2 + 4z + 4y/2y + 1 = 0 represents a

pair of straight lines.The distance between them is a. 4

4
b. — c.2d.2,/3

V3
A.2/3
B. 21/5

C.2

D.O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1kHCuisiFhXH
https://dl.doubtnut.com/l/_ORBjx69W7s40

76. The point of itnersection of lines represented by

ther equation 3z% + 8zy — 3y> + 29z — 3y + 18 = 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ORBjx69W7s40

77. All chords of the curve 3z? —y?> — 2z + 4y =0
which subtend a right angle at the origin, pass through

the fixed point

D.(—1, —2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6yzGkZ5jc3Qs

78. The pair of lines joining origin to the points of

intersection of, the two curves
az® + 2hzy + by® + 29z = 0 and
o'z +2h zy+b'y> +2¢'z =0 will be at right
angles, if

A(a"+b')g" = (a+b)g

B.(a+b)g" =(a" +b')g

C.h’—ab=h>—-a’b’

Da+b+h®=a +b +h?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zvCLAiyxDXTl

79. A diagonal of the rectangle formed by the lines

z? — 4z +3 =0 and y* — 6y + 8 = 0is given by

Az +y=
B.x —y=25
Cr+y=
D.z —y =3
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VA3Jw7u5OQxY

80. The product of perpendicular distances from the
origin to the pair of  straight lines

1227 + 25zy + 12y° + 10z + 11y +2 = 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_43LR1fk8tgqD

81. The angle between the pair of lines

2

(z® + y®)sin’ @ = (z cos§ — ysinf)?; is

A0

B. 26

D. 2«

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wYj7GaZPMLHy

82. The centroid of the triangle formed by the pair of

straight lines 1222 — 20zy + 7y?> = 0 and the line

2z — 3y + 4 = Ois

>
VR
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\]
S~

wo| by el
o

7
3
B.( E)
"3
C. <§ §)
3’3
o, (é é)
3’3
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jaTOFSu8bFJL

8. The lines represented by the equation

wz—y2—w+3y—2:Oare
Az+y—1=0z—-y+2=0
Br—y—2=0,z+y+1=0
CzxH+y+2=0z—y—1=0

Dz —y+1=0z+y—2=0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6eMfnGNM9UQj

84. If the lines
z? + 2zy — 35y% — 4x + 44y — 12 = Oandbz + Ay — 8

are concurrent, then the valueof Aisa.0b.1c.-1d.?2

A.O

B.1

D. 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NQrtQYQ5YeNe

85. In order to eliminate the first degree terms from
the equation 2x% + dxy + 5y2 —4x — 22y + 7 = 0,
the point to which origin is to be shifted is- (1)

(1, —3)(2)(2,3)3) (—2,3) (4) (1,3)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mgM3GTVGNEYQ

Mht Cet Corner

1. The joint equation of lines passing through the
origin and trisecting the first quadrant is

Az? +/3zy —y° =0

B.2> — /3zy —y> =0

C./3z® —day +/3y* =0

D.3z2 —y?> =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LeY7RvQNXvoQ

2. The joint equation of bisectors of angles between
linesz =5andy = 3is

A(z—5)(y—3)=0

B.2? —y? — 10z + 6y + 16 =0

Czy=20

D.zy —5x — 3y + 15 =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_m6eSaYB7IGDM

3. Which of the following equation does not represent
a pair of lines ?

Azl—z=0

B.zy —x =0

Cyl—z+1=0

Dzy+x+y+1=0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lVS5zHHO70NW

4.1f one of the lines of the pair az® + 2hzy + by® = 0
bisects the angle between positive direction of the

axes, then a, b and h satisfy the relation.

A.a+ b= 2|h|
B.a+b= —2h
C.a — b= 2|h|

D. (a — b)? = 4h?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KCIIupDBLJCv

5. If the pair of straight lines z° — 2pzy — y* = 0 and
z? — 2qxry — y2 = 0 be such that each pair bisects the

angle between the other pair, then

Apg= —1
B.pg =1
1 1
C—+—=0
p q
1 1
D.———=0
p q
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yPVnkIHgjAUM

6. The angle between the lines in

z? —zy—6y> — Tz +3ly — 18 = 0is

w3 pA o)y ]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_85LWHsoAZrum

7. The pair equation of the lines passing through the
origin and having slopes 3 and — 3 is

A3y’ + 8zy — 322 =0

B.3z% + 8zy + 3y*> = 0

C.3y> —8xy— 3z =0

D.3z? + 8zy — 3y = 0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_k2q4TBmCL9pK

8. Joint equation of pair of lines through (3, — 2) and
parallel to z? — dxy + 3y2 =0is
A z? + 3y? — dzy — 14y + 24y + 45 = 0
B.z2 + 3y® + 4oy — 14+ 2y + 45 = 0
Czl+3y> + 4oy — 14z + 24y — 45 =0

D.z% + 3y? + dzy — 14z — 24y — 45 = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_M4CuXFbDq1GQ

9. If 6 is the angle between the lines
az® + 2hzy+by> =0 , then angle between

z? 4 2zysecd + y*> = Ois

A0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5d19dtaRXFcs

10. If the equation
1222 + Tey —py? — 18z +qu+6 =0 represents a
pair of perpendicular straight lines, then
AL
"2
B.—19
C.—12

D. 12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fkPXypJmpdGY

11. The angle between the lines represented by the

equation 2z% + 3zy — 5y = 0, is

[N w|

12
C.tan !|—

7
D.tan !|—

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qE7KhAbxKJtw

12. If the equation 4z* + hzy+ y*> =0 represent
coincident lines, then h is equal to

A1l

B.3

C.2

D.4

Answer: D

o Watch Video Solution

13. The sum of slopes of lines 3z + 5zy — 2y* = O'is


https://dl.doubtnut.com/l/_7G5W52YDay3x
https://dl.doubtnut.com/l/_GLqxuRFgT3YD

A—g
5. 2
2
.2
2
p.— 2
3
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GLqxuRFgT3YD

